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1.

i
Which of the followind statement is/are

correct ? _
line is defined as the

. Snow .
Eslltt;:z?ig;;,{dsv:hich land remains under
permanent snow cover.
Statement Il : Bugya!s
timber line and snow liné-
(A) Only statement |
(B) Only statement Il
(C) Both statements
(D) Neither statement

rakhand Economic
Survey 2023 — 24, which of the following
options represent correct sequgnce of
gross district domestic pro_duct in

F.Y. 2021 — 22 in decreasing order ?

(A) Haridwar — Nainital — U.S.Nagar —

Dehradun .
(B) U.S.Nagar — Dehradun — Haridwar —

Nainital
(C) Haridwar — U.S.Nagar — Dehradun —

Nainital
(D) U.S.Nagar — Haridwar — Dehradun -

Nainital

grow between

| and II
| nor statement Il

According to Utta

Match List — | with List — Il and select the
correct answer by using codes given below

the lists.
List -1 List -1l

a. Tanya Kotnala 1. The Aipan
Project

b. Shashi Bahuguna 2. Valley Culture
India

c. Minakshi Khati 3. Bhuli Design
Studio

d. Shikha Prakash 4. Namakwali
Brand

a b
(A) 4 3
(B)3 4
c1 2
D)2 1

WwWw=nNno
A BN
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Google Play

i
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aﬁam?ﬁqaﬁ@

(A) %EWEB‘ZFH

(B) et w1

(©) For | 3k 11 2

(D) 9 e | 3fic 4 e |

SRS 3rfefe; adaor 2023 — 24 %
FTAR 9§ 0021 _ 22 T IA@IE b
Wmmqﬁmaﬁrg@mﬂ
TR 7

(A) BER-3rare -, R FR-<Eed
(B) %Ry TR -grga-gigR -1t
(©) Thgr-. fr T -ZergE -
(D) %.fa. T m-shgR-CgugA-HIaTet
T - 1 = - 1@ gifem AR i

gt % = 76 e 1 =M W FE IHW
g |
gt - | g1l
a. 1 e 1. T W90 Woige
b. TRTSEIM 2. It Sew S
d RIS 4. THevaTeh e
a b c d
(A) 4 3 2 1
(B) 3 4 1 2
c1 2 3 4
(D)2 1 3 4
_
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4. V\{ho among the follow;
with transliteration of Pg

copper plateg inscri;:)tionn';j

(A) V.s. Wakankar |

(B) Ma.dhukar Keshay Dhavalikar

(C) Rajendrajg) Mitra

(D) Nayanjot Lahiri

Wthh of the fO“ow' .
of Uttarakhang ? 'NgIs the largest bugyal

(A) Bedini
(C) Kushkalyan

(B) Dayara
(D) Dudhatoli

U!'eli or Aneri Holi festival is associated
with which tribal community ?

(A) Tharu (B) Bhotia
(C) Jaunsari (D) Santhal

The following are dance songs form
related to Kumaon region

(A) Rasaun

(B) Harul

(C) Chhapeli

(D) Chhopti

Given below are two statements, one
is the Assertion (A) and the other is the
Reason (R), answer by using code given

below.
Assertion (A) : Khatling glacier is the
source of Bhilangana river.

Reason (R) : This glacier is located at the
distance of 10 km in the west of Kedarnath

in district Tehri.

(A) (A) is correct, but (R) is wrong

(B) (R) is correct but (A) is wrong

(C) Both (A) and (R) are correct but (R) is
not the correct explanation of (A)

(D) Both are wrong

2
i

5.
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ws gER I FHT (R) FE R, A e

T e T Heg | I I |

WA (A) : AT TARRR e 7 51

a8 |

TR (R) : I8 TRRR fogh foer &

HERATT T 10 e ufdem d fRm 2

(A) (A) Gl € Wg (R) T &

(B) (R)¥al 8 W= (A) TToid &

(C) (A) 3R (R) BT W& R W (R), (A)
& G TR T 2 |

(D) ST TTeTa &



https://applink.adda247.com/d/XhqWf9lSap

Adda247

% 37/24

9. Recently at which of the following place 9. B & 3§ 5 .
A o Ufta rgkhand first Hu;'n:G Smart Village TAM g WEE'['R@UUT%’AG%%W & éz_{ Em
Centre was inaugurated * QT R ey : £
A
(A) Sarmoli EB; ;—zjﬁ
(B) Khoont o
(C) Dakura o) STHU
(D) Dagura QI
10. Match the rivers with their places of 10. qﬁ&r@,m 5 -
origin. ok T BI vﬂilii‘fla;ﬁﬁq
Column - B Al
Column - A | G arce
hatoli K a. U
1. Bhilangana a. Dudhatoli Wq- T
2. ‘Tq'lﬁfr b. éElT‘TIF[
2. Mandakini b. Devtaal
3. Saraswati c. Kedarnath 3. HEE] o ¥
. J_iE- . .
4. Alakananda d. Khatling %%% 4. AT q
5. Ramganga e. Satopath 5. T N
1 2 3 4 5 1 2 4 A ]
(AAb ¢ e a d A b ¢ o a o
(B) d c b e a (B).d c b . .
©d ¢ e a b C©d ¢ e a b
Eae g Ma ¢ b e d

11. Who among the following is credited with 11, fefefaa & & 758 qonret e 1

construction of Bijapur Canal in erstwhile iR T&X ¥ fmior =1 3 et S 2,
Dehradun ? _

(A) Col. Young (A) FAA A

(B) Col. Moore (B) A T

(C) Capt. Cautley (C) T e

(D) None of the above (D) I | | HIE T8

f
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12. “Leaves of this tree are yg
. ; ed r
the animals, its fibre jg use da:?dr::;i;og

ropes, the wood has high ayoricic value
to be used as fuelwoog” _ This statement
is true about which of the following trees
found in Uttarakhand ? .

(A) Timil (B) Chir

(C) Bheengal (D) Kharak

13. Pungaari, Timarri, Mijhari are related to
which of the following ?

(A) Gorkha period Architecture
(B) Gorkha period Military system
(C) Gorkha period Ornaments

(D) Gorkha period Tax-system

14.  Nandhaur Wildlife Sanctuary is located in
which of the following districts ?

(A) Nainital and Pauri

(B) Tehri and Uttarkashi

(C) Dehradun and Haridwar
(D) Nainital and Champawat

2 j.li EI

Nyl

EEEE

15. .Which_ of the following options is true about
Inner line permit and restricted area permit
in Uttarakhand ?

(A) Inner line permit is issued by the
State Government while restricted
area permit is issued by the Central
Government

(B) Inner line permit is issyeq b
th
Central Government while restlr/ictes
area permit is issued by the State
Government
(C) Inner line permit as well as restricted
area permit are issued by the State
Government
(D) Inner line permit as well as restricted
area permit are issued by the Central
Government

12.

13.

14.

15.

GET IT ON
Google Play

ITRETE T R A Wi 3R gfasfig
ST Wi S IR A TN g 7
(A) TR I Wi U9 9GhR g S

fora an 8 3R wfasfea & wiye
g GIHR R I fopam SraT R

(B) SR W37 WA g TLHR gRI T
Tore StTar 8 3Tk wfvefa & e
TS TR g IR R i @

(C) T T Tlte do wRfE &
T TS TR T W Y 9 2

(D) TR AR Wit qon wiysfe 3 wh
TNl 75 TR g1 o R o 3
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16.

17.

18.

19.

In which dance form the nursnger of dancers
should be in even Numbers

(A) Chaunfula

(B) Ramman

(C) Jagar

(D) None of the above

Historical reference of which of the

following places travelled by Chinese
traveller Hiuen Tsang is not found ?

(A) Makarpur
(B) Madavar
(C) Mayapur
(D) Brahmpur

On the basis of codes given below, arrange
the following events related to Uttarakhand
State formation movement in ascending
order of their occurrence.

1. Bataghat incident

2. Mussoorie fusillade

3. Khatima fusillade

4. Rampur Tiraha incident

Code :

A3 1 2 4
B)4 1 2 3
(C)3 2 1 4
(D) 2 3 1 4

Which song is rainy season song ?
(A) Thadya dance song

(B) Chaumasa dance song

(C) Faufali dance song

(D) None of the above
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Google Play
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20.  Which of the following Institute is not
Situated in Uttarakhang ?

(A) Indian Institute of Petroleum

(B) Indian Institute of Horticultural
Hesearch

(C) Indian Institute of Remote Sensing

(D) Centray Building Research Institute

21. “Baithakhi Holi” is mainly famoyg in 21.

(A) Tehri Garhwal
(B) Jaunsar Region
(C) Rudraprayag
(D) Almora Region

22.  Match List — | with List — Il and select 22,

the correct answer by using codeg given
below the lists.

List -1 List -
a. Devidhura 1. Uttarkash;
mausoleum
b. Hudli rock- 2. Almora
paintings

c. Lakhudyar
caves

3. Champawat

d. Gorkhya udyar 4. Chamolj

caves
Code :

a b c d
(A) 4 2 1
(B) 3 1 2 4
C) 1 2 3 4
(D) 2 1 3 4

—

20.

GET IT ON
Google Play
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|
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(©) s & ko
] EVAE
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A % A T T e B oy
- W g |
gt — | Tt - 11
a. Sy A 1. IATHTR
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a b c d
(A) 4 2 1
B3 1 2 4
©1 2 3 4
®2 1 3 ,
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23.  Which of the following statément is/are 23. iy . ot
correct ? J 3 T ad .
i Raj Ty, At
Statement | : Nanda Devi Raj Jaat Yatra W g A8
starts from Nauti Village- Trtey ‘@?ﬁ 3 ?Eﬁ TS <rd Il
Statement Il : Bedni Bugyal (meadow) is T -
an important halt during the yatra. I amn & A e el
ISE R
(A) Only statement | "
A B
(B) Only statement Il ®
YA ||
(C) Both statements | and Il @ N e
SRR

i t | nor statement Il
(D) Neither statemen
©) 3 e | 3 7 = 1

ist — | with List —
= mgtggrtrgit[-cl)ittio; ‘f{:gl:n the céldzngi\?::\em 2% &l - E| T - 1 & R HRA 3
below. %m@@ﬁg@ﬁﬁqﬁﬁal
List -1 List -1 ‘Fﬁ i @' "
a. Sunderdhunga 1. Uttarkashi a W N 8
b. Dokriani 2. Bageshwar b. Srepfah ) T
c. Namik 3. Tehri Garhwal ¢. ity 5 gl AT
d. Khatling 4. Pithoragarh d. Eafem 4. R
Code : E
a b c d a By 5 | d
A) 2 4 3 1 A2 4 = 4
B) 2 3 1 4 B 2 3 j 2
c3 4 2 1 €3 a4 o 1
Grz 148 Oz 1 4 3

25. Who among the following founded the 25, Trfafaa § @ fees Himam §

‘Folk Culture Museum’ in Bhimtal ? A TEHRT TR B T ) 7
(A) Shekhar Pathak (A) IR IISH
ER4E
(B) Yashodhar Mathpal : (B) MR eI o
(C) Srikrishna Joshi (©) AP S
. (D) T T Sfi
(D) Soban Singh Jeena . —
-9-
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26.

27.

28.

29,

In which district of Uttarakhg

i ' nd, the
first Grain A.T.M. of the ;
installed ? State has been

(A) Dehradun
(B) Haridwar

(C) Udham Singh Nagar
(D) Nainita]

Read the following statements :

Sta;ement 1: “Bhankora instrument” is
made of copper. This instrument is used
In religious Garhwali folk God summoning.

Statemgnt 2 : “Bhankora” is played to give
information on the occasion of war.

Which of the above statements is correct ?
(A) Only 1

(B) Only 2

(C) 1 and 2 both are correct

(D) 1 and 2 both are wrong

Who among the following created the pook
‘Garhwali Chhandmala’ ?

(A) Mohanlal Negi

(B) Jaydev Bahuguna

(C) Leelanand Kotnala
(D) Totakrishna Gairola

Which war memorial was established
by British empire to honor the valour of
Gorkha warriors even after the defeat of
Gorkhas in Anglo-Gorkha war ?

(A) Khalanga War Memorial

(B) Gabar Singh Memorial

(C) Uttarakhand War Memorial

\_\(E)_geed Bagh Memorial

26.

27,

28.

29.

GET IT ON
Google Play
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HUT 2 : YRR Dl IG b TTW W
éﬁ%q\mmwg? w
SHH oAt § | HH-GT a8 R 7
(A) et 1

® ¥z Eﬂ%ﬂ

(C) 1R 23T wft & [
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BEHTAT’ =l T Y ?

(A) AgTere i
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(A) G IR TR
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(D) =g s W
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30. Whicho

31.

32.

33.

247

f the following rock-edict of
Uttarakhand mentions name of Greek

Kings ?

(A) Palethi

(B) Mandal
(C) Kalsi

(D) Bageshwar

In which “Purana” the four abodes (Char
Dham) of Garhwal were described by

Maharshi Ved Vyas in detail ?
(A) Padma Purana

(B) Skanda Purand

(C) Shiv Purana

(D) Vaaman Purana

Dungi-Pantoli Movement is related to

(A) Water Conservation
(B) Construction of Road

(C) Handover of Baanj forests to
Horticulture Department

(D) Land Resource Management

Which of the following is not related to
Gorakhpanthi treatises of Garhwal ?

(A) Dhol Sagar

(B) Smaina

(C) Sabha Sagar

(D) Srinath ji ki Sukles

34. Whoamongthe following did not pa\rticipate

in the revolt against the Princely State of
Tehri ?

(A) Sridev Suman
(B) Nagendra Saklani
(C) Molu Bhandari
(D) Kalyan Chand

30.

31.

32.

33.

34.

GET IT ON
Google Play
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which local breed of cow i .
= and improved in Nariyg| GI:Obe'”g bred 35.
py ULDB (Uttarakhand Ljyeg, Champawat
pevelopment Board) ? 1ock
(A) Gauri
(B) Badri
(C) Himdhenu
(D) Red Sindhi
36. Match the following. 36
column—A Columnp _
1. Lichen Park a. Udham Singh
Nagar
2. First Crocodile b. Munsya,i
trail-Kakra
3. Surabhi Vatika c. Lalkuan,
(Aromatic garden) Haldwap;
4. Second largest d. Lalkuan,
phycus garden Haldwanj
in India
1 2 3 4
R4 =1
(A)b C a d 2 4%
Eu'r'.-
B)c d a b
(C)b a c d
D)a b d ¢
37.

37 Which of the following is the India’s first

e

Astro-Tourism Campaign launched by
Uttarakhand ?

(A) Tara-Mandal
(B) Nakshatra-Sabha

(C)
(D)

Akash-Ganga

GET IT ON
Google Play

HicH —
a. 399 g Ty
b. TR

(TeRUT) .
3. g afeet (giy/ c. AL,

e M) ggHl

4 v 1 gEq W d. TE,
1 2 3 4

A b ¢ a d

B) ¢ d a b

(C)b a ¢c d

D)a b d ¢

(A) TRT-HUSH
(B) TF&TA-AHT

(C) ATRISI-TI
(D) JATHI-ITA

Akash-Yatra

-12-
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) 38 Which of the following is/ar® Committees

of Uttarakhand Vidhan Sabha ?
1. Committee on Youth Affairs

2. Committee on Local Dialect
Language

3. Committee on Migration

4. Committee on Bhu-Kanun
(A) 1,2and 4
(B) 1,2and 3
(C) 2,3and 4
(D) 2and 3

39. Which among the following options
represents correct hierarchy of the
officials in the Uttarakhand Government ?

(A) Additional Chief Secretary —
Secretary — Principal Secretary —
Additional Secretary

(B) Additional Chief Secretary —
Additional Secretary — Secretary —
Principal Secretary

(C) Principal Secretary — Additional Chief
Secretary — Secretary — Additional

Secretary

(D) Additional Chief Secretary — Principal
Secretary — Secretary — Additional

Secretary

40. Under what brand name the handloom
and handicraft products of Uttarakhand
State are marketed in other States ?

(A) Bhagirathi
(B) Himadri
(C) Ganga

(D) Sanjivani

'E-. !!'r:-:-

GET IT ON
Google Play

57124
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3. Tafefan § § wm-ar ey TS
! o @

(A) 31 e wfvre—gfe - Ao -
I af
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O[30

- ET,

40. FEIEVE TS 35 BUHTET 3N weafires
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(B) Temmsh
(C) T
DEEIES]
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Reasoning

41. Choose one word out of the given
alternatives, which cannot be
tormed from the letters of the word

‘CONSULTATION'.
(A) CONSTANT  (B) NATION
(C) SALUTE (D) STATION

42. Shivay was born on 29" February. He
celebrated his birthday falling on exactly
29! February 2012 for 6" time. In which

year he was born ?

(A) 2000 (B) 1996
(C) 1992 (D) 1988
ion’, M for

If A stands for ‘addit M
‘multiplication’, D for division’, G f,or
‘greater than’ and L for ‘Less than’ then
which of the following will be logically
correct ? ;
(A) 20A4D4L4A6D:2
(8) 20D56804A6M3

(C) ZOD4A4L4A2M3

(D) None of these

44. Which of the foMo.wing will come in place

of question mark in the given sequence ?

16D7, 18G10, 21K14, 25P19, ?

43.

(A) 30V20 (B) 30V25
(C) 30V24 (D) 29v25
45. If x means +, + means +, —means x and
+means—, then8x7-8+40+2=7
(A) 1 /) 72
3 5
(C) 8 5 (D) 44

46. A cube is painted blue on all faces and
then cut into 125 cubes of equal size.
How many cubes are not painted on any

.
=

=4

41.

42.

43.

ERE

44.

45.

46.

GET IT ON
Google Play

ey 20 T BT B | I
o ar S 29 BRI 2012

o A e
forr o = g3 AT 7

1 T | SR S
(A) 2000 (B) 1996
(C) 1992 (D) 1988

A Srreer, M IO < T, D ‘TTHe
f%m,e‘aqfw'é?f%mafm_‘w%%qé’f
ﬁrﬁmﬁﬁﬁq—wmﬁ%wﬁa‘é’tﬁm ?
(A) 20A4D4L4ABD2

(B) 20D5G8D4A6M3

(C) 20D4A4L4A2M3

(D) S8 & hIg T&

fi31 T argeen 1, SRAATEH 6 5 M
w frer § & R AR 7

16D7, 18G10, 21K14, 25P19, 7

(A) 30V20 (B) 30V25

(C) 30V24 (D) 29V25
aﬁxa»‘ry?i+,+$ranf+,—$rm‘ix

3ﬂ'(—:—ﬁ3ﬁ—‘§l,?ﬁ8x7—8+40-:—2=?

(A) 1 (B) 7%
© 82 (D) 44
T T % Gt Betshl 1 e T T T

2 3R 79 99 H19 % 125 T4 ° Fe e
T ] | U foRa w g Sreh femedt ofit wheteh

face 7 1 1 T %
TNIEI g ?

. .

(A) 8 (B) 16 (A) 8 (B) 16

(C) 27 (D) 36 (C) 27 (D) 36
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X EQ‘&& e
R oA g a
'Rh' 47.  There are two "‘}a,lrgf;co;aprﬁls il.: ?hearrv:!lifyé ' z:qh?m 5 <) Jenfes IO %tlrﬁ 5 aﬁl‘f
3 i . i ©
D) ;“g’a;}asi “C:,%oc;s the bro;hgr _of ﬁu_njiar}- - gl UTee, TareT <l Tl &) Ny FTA
Mahima is the da”ghterh?) isujtﬁé s?ﬁ cl>sf AL e, g A e g |
the sister of Hgket;’;’ svgn of Gunjan, who T H g g, ot R ekl zﬁT% l
i is .. 5
2?19;2' ﬁ?;r?svparul related to Puja ? e, T o1 el 2, St b I
oN A) Si (B) Sister-in-law TN & oy ey R 7
(A) Sister other (A) w5 (B) vl
12 (C) Aunt (B} ©) =rht D) =Tl
‘ 48.  If the following pattern IS ﬁrae";’” s S 8. I Prafafg et ared YZHE;-T&W g,
transparent rectangular S g e ? ST R 3 fidenr Yar ¥ @
along the dotted line, how does it appear * a T Sy Frrmrt e 7
>
3 \V (
"[RO
(B) ]
X 0
EIRE | |
Bl (C)
[0 0

____________
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(A) 6 km South
(B) 4 km South
(C) 4 km North

(D) 6 km North

50. Six people K, M, N, P, Q ang

sitting around a circular taple facinR are
centre. If K sits third to the left of Mgot:'e
one person sits between K and N, Fi sit:
to the immediate left of N, then Who sits

immediate right of K ?

) P R
(C) R
(D) N

GET IT ON
Google Play

37[24
maﬁ(@q@@%@@%m
49.

)
2, e | UM 2km

3 :
g % F s
aﬁﬂx@ﬁﬂskmq@qaﬁ ﬁﬂﬂw%%
1kmaﬂm%‘m%ﬁm%m&1’@“‘m
o FHE 8 7
(A) 6 km SIET
(B) 4 km &i&

(C) 4 km 3T
(D) 6 km ST

50. ©: AT K, M, N, P, Q 3 R, TF et 39

TR 7 75 B T e R | oy
K, M i st ot fe TUW W gy
K 3l N % o= e U =afa dam i
R, N % Thed widi @l Sl § a9 K3
TeheH T % i ST 8 7

(A) P
(B) Q
©) R

(D) N
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ks General Knowledge
"3 ted tO 51 . L] .
51. “Siricilla Tragedy" 1S fole Retieren T 1 EET 2
(A) Weavers (A) T
B
() Farmers B)
(C) ey
©) Workers :
D)
(D) Aliof the above ERNEL Rt
5. Which ruler of the Mauryan period 52. TR wiRiren wrew 3 T TE
was the first 10 introduie the post of " IHHEHE % 9% W v TR 7
“Dhammamahamatra’ !
(A) =sTea O
(A) Chandragupta Mourya
(B) fergam
(B) Bindusar
1R (C) =¥
(C) Dashrath =y
e (D) TR
(D) Ashoka
3. Choose the correctly matched pairs outof - 53. fr=faiaa & & ud gafem om =1 ==
the following : Tzﬁﬁﬂ'q :
1. Blue Revolution ~ — Fish Production 1 fieht i _
2. White Revolution — Dairy and Milk . .
Production 2. T Fhich - i w gy
3. Yellow Revolution — Oilseed _ JcdTeA
Production 3. dieil skl — fyeieT ST
4. Red Revolution  — Fertilizer 4. T Shidl _ o
Production e
A 1,2
(A) 1,2and 3 (A) 1,233
(B) 1,2and 4 (B) 1,234
(C) Only 1 and 2 () ¥ 132
(D) Only 3 and 4 (D) et 3 31 4
e
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54. Term Connectome is "elateq 1, which of 54 FagaH 54 frefetfaa § q ﬁggﬁ

the following ?

Company
(B) Internet service Provige g

Reliance-JIO Company @F&'E.EE
C) Map of neural conngct; ] =i
( brain Ctions i, the EI!-‘ﬁg?l

(D) Genome sequencin

Virus ¥ O SARs.Cov-2

55. Which items are not includeq ;

measure of money supply 2 ! M3 55. HAl 311’«'[\% & Tq M3 k] qﬁ:"—‘éﬂ L
(A) Other deposits with R, T |
(B) Total deposits with Post Offi . (A) 3:@%311’&‘ <+ S ]
Banks ® g (B) STRER I ShI H e
(C) Currency arfd coins with Public (C) el % UTE HE 37k o
(D) Total deposits with bankg (D) SR} % I T ST
56. Match List — | with List — Il ang g
t th - E,rfri\?m 2
correct answer by using code give”el:elov?f 56. | = - NS '“'ﬁlw
the list. R % R T e s
List -1 List — 11 R IR H T W |
Tl -1 T -
a. Art. 39(a) 1. Protection of Jije and
personal liberty 8- 9g. %% 1. m R %‘%—*
b. Art. 43 2. Prohibition of traffic A
in human beings and b. 317. 43 2. U % TR 3
forced labour FATIHT T Tie
c. Art. 21 3. Equal justices ang c. 3. 21 3. wHH =¥ 3 fiy
free legal aid faftres oema
d. Art. 23 4. Iv_viz)/irrl:gr\grage etc. for d. 3. 23 4. FHHRT & T
Code : e EERUI
a b c d e :a b G d
(A) 4 2 3 1 (A) 4 2 3 1
B3 4 1 2 B3 4 1 2
(C)3 2 1 4 )38 2 4 4
Dy2 1 3 4 D2 1 3 4
_____/

GET IT ON
Google Play

37,2‘
€ st "
(A) =gfer F SR NS Gy,
(B) FramE-Tr3T N GRY gy hy

s Ry

JAFHAT
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57.

58.

59.

Consider the following statéments.
1. The height of Spring tides is 20%
more than normal tides:
2. The height of neap tides is generally
20% lower than thé normal tides.

Which of the above statements is/are

correct ?

(A) Only 1

(B) Only 2

(C) Both the stat

correct
(D) Both the statements 1 and 2 are

incorrect

ements 1 and 2 are

Consider the following statements :

Statement 1 : Soil Health-card Scheme
aims at expanding the cultivable area

under irrigation.

Statement 2 : Soil Health-card Scheme
aims to check the overuse of fertilizers in

farmlands.
Which one of the above statements is

correct ?

(A) Only 1

(B) Only 2

(C) Both 1and 2 are correct
(D) Both 1 and 2 are wrong

ERYE
E!ﬂr

Who among the following was the
“Peshwa” at the time of the “Third Battle

of Panipat” ?

(A) Balaji Bajirao
(B) Madhavrao First
(C) Raghunathrao
(D) Balaji Second

57.

58.

59.

GET IT ON
Google Play

371"

At et 2 |
= Ww@ﬁgmﬁﬁ
W=y 20% F9 &A1 8 |
%mmﬁﬁ@aﬂw—maﬁ%/g '
(A) e 1
(C) 1 3fix o3t b @l 2
(D) 1 3t 2 At e e 8

Frerfriae et w frem A
thw@ammﬂﬁ‘;
ﬁ?ﬁ%mﬁ%ﬂwﬁﬁﬂm
W2:WW$@WW3&§T
?&“iﬁmaﬁ%mﬁﬁw
e
Wamﬁﬁﬁaﬁq-mwa‘éﬁ?
(A) shaet 1

(B) dad 2

(C) 21 1 3R 2wdt &

(D) Q1 1 31T 2 7Terd @
frfafaa § @ S “arivd % e 38"
F GHT “UvET” AT ?

(A) TSI SIS

(B) HTEE qYH
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60. Match List — | with List

=l ang sel h 60
correct i gt the '
o answer by using the code given

List -1 List — 11
a. Namit Sharma 1. Effective access
Case to justice
b. Ram Jethmalani 2. Power of High
Case Courts under
Art. 226 and
227
c. Central Coal 3. Power of
Fields Ltd. Case Supreme Court
under Art. 32
3]0
d. L. Chandra Kumar 4. Freedom and E;;%
Case dignity of the [=]47zs
_ individual
Code:
a b c d
(A) 4 1 2 3
B) 2 1 4 3
(C) 2 4 1 3
(D) 4 3 1 2
61. Which of the following pairs is not 61.

correctly matched ?

(A) Kober — Geosynclinal Orogen Theory
(B) Daly — Sliding Continent Theory
(C) Jeffreys — Plate Tectonic Theory

(D) Joly — Radioactivity Theory

GET IT ON
Google Play

37124

_ = g - 1 A i w gy
o gt
|

gfi- | T~ )

a. ft wml 1. & 6 gy
RIS

b. T e HE 2. . 226 T poy
* TEd 3w
AR 6y
ferpR

c. Ve i hiegd 3. 3. 32 Fary

. ¥ FE=T ey
<l HARIER

d. TS, =5 TUR 8 4. SR 9 i
& TR

e :

a b c d

A4 1 2 3

B)2 1 4 3

(C) 2 4 1 3

Dy4 3 A 2

ffeiea & @S- gm o gk
TR Y

(A) IR — gE=TY g

(B) scft — weri freem g
(C) SISt — e fertw fargia

(D) ieht - e fgia
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62. Choose the correct sequence Ofinstruction 4, ﬁ“‘?{aq '
. . S. *
cycle in execution proces Sk ¥ e < 1 @ iﬁ
(A) Fetch — Store — Execute — Decode (A) ey >R TS
(B) Fetch — Decode — EXecute — Store (B) ¥ Rk S o
(C) Store — Decode — Execute — Fetch (©) ‘\:aﬁ\) fshe qﬁ.ﬁ:raqga-
(D) Execute —s Fetch — Decode — Store D) ~ R Waﬁﬁ
R i _ s — BN
3. Which one of the following pair is not 63. ﬁ'lt:[ .
correct ? ﬁﬁﬁ?—m@ng‘é’rq—ﬁ% ?
Rank Export in Sufy e d
Dollar -
- W) T s ferf 7 — 3 ffeRr S
(A) One star export house —$ 3 million .
®) F arw frafe g — 25 frfr SIeH

(B) Two star export house —$ 25 million

(C) Three star export house— $ 100 million (©) % amr ferfar g — 100 T I
D) Fourth star export house — $ 2000 million i
©) PO (D) =R Ay Frarte 17 — 2000 FfeEH ST

4. According to the new definition adopted 64. . %
in July 2020, a ‘micro’ enterprise is Mg 2020 & @ H T 7§ R
FIER, “GEn’ 395 i TR

defined as

, . (A) T 3K mefed o few T 50 9
A) Investment in plant and machine [=1R4i[E
(A) 2 Y Fﬂ’ qF qUT T TaE T 1 S @

upto T 50 Lakh and annual turnover =
[=]% 3:|'f§;|$ f
not more than ¥ 1 Crore Tl

(B) Investment in plant and machinery (B) W R Wi # frow 3 75 @
upto ¥ 75 Lakh and annual turnover A T e e T 2 Fg W
not more than ¥ 2 Crores IPEIE |

(C) TFx 3 Wit & FRwr 31 Wig 7=

(C) Investment in plant and machinery
upto ¥ 1 Crore and annual turnover YT TS eHAR T 5 FUg T i
not more than ¥ 5 Crores &l
(D) Investment in plant and machinery (D) &I 3 aefid & fRw 20 e
upto ¥ 2 Crores and annual T qYUT s THAHR T 10 .
turnover not more than R T g §
T 10 Crores ' e
e
D
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65. Given below are two statements, one is
the Assertion (A) and the other is the

Result (R). Answer by using code given
below :

Assertion (A) : Second Five Year Plan
prioritised to the industrialisation.

Result (R) : Three steel plants were set
up in the public sector and modernisation
undertaken in the private sector.

(A) (A)is correct and (R) is wrong
(B) (R)is correct and (A) is wrong

(C) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A)

(D) Both (A) and (R) are correct, and (R)
is the correct explanation of (A)

66. Which of the following is not a Web

Browser ?
(A) Mozilla (B) Mfcrosoﬁ Edge
(C) Google (D) Chrome

67. Statement—I:Non-cooperation Movement
was formally launched after the expiry of
the notice given to Lord Chelmsford by

Gandhiji.

Statement — Il : Lokamanya Tilak died on ,—"%H'E

the same day of launching of the
Non-cooperation Movement.

Choose the correct answer by using code
given below :

Code :
(A) Statement | is true but Il is false
(B) Statement Il is true but | is false
(C) Statement | and Il both are true
(D) Statement | and Il both are false

GET IT ON
Google Play

37/2

aaﬁﬂﬁa”q%a @aﬁ.eﬁm (A)
65. lﬁg}@qﬁm(ﬂ)mwélﬁ%

, & o e
ﬁ‘"ﬁm" g o Feft @ A

mw%mﬂl
) (n) T & 3 (R) T 2

(B) (R) @ & 3 (A) T R

(©) (A) 3t (R) T TEl &, oG (R), (A
7 T TASHT & 8

(D) (A) 3 (R) 2F1 & B, 3R (R), (A)
T gt TISIHT B
66. = § § F-u1 39 FISOK &l § ?
(A) Hifren (B) ATSSHIETR TH
(C) T (D) sIH

67. AT — | : MEhSH g AlS AFBIS HY

&3 7y A H T & e @A
el Ngenies T ¥ & foam mam ar |

HUF — I : SEEANT SIS T i 3
f&7 &t irepm foee < gog & Wi

e few T e i wEmEAT @ HE W H
T B

% :

(A) Y | G g Toreg 1l Torew 2

(B) U Il ¥cg § fohrg | 315w @

(C) o 1 9 || gH Hew 8

(D) YT | TF || ST FH &
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68. Wnho called Lo : “The Saviour of aﬁf ?
rd Ripon 68. g o FoEA
India” 7 (A) qzq: B o o SE
(A) Florence Nightingle B)
(B) Arnold White © e R
(C) Madan Mohan Malviya ) q?ﬁ g AT
(D) Gandhiji (D) Triefefy
i | and select the ~ 69. =h @1%153 M
69.  Match List — I with List - ! h C? et == -1 8 @WW L el
correct answer by using theé code g e = fedr R H
below. _ ST H g P |
. List — Il ;:Eﬁ—"
List -1 ] W__ |
a. Yangsi 1 Thélland a. qrfy 1. 2IER
b. Minam 2. China b. frr 0. HH
c. lravadi 3. Iraq c. T 3, g
4. Myanmar
d. Shatt-al-Arab y O 4, FAFAR
Code:
a b ¢ d o
3 a b c d
A2 1 4 ERIE W2 1 4 3
®1 2 3 4 “r‘El-.?f"g’*r ®1 .2 3 4
Cc2 4 1 3 C2 4 1 3
o2 3 4 1 (D) 2 3 4 1 .
70. Match the List— I with List— Il and choose ~ 70. &=t — |1 G- 11 & gAferd i
the correct answer from the code given afEl % 9 A ™ % ¥ g8l IW
below the lists. ﬁ'ﬁ'& |
List-1 List-1i w—l H\ﬁ_“
a. Tripura 1. Kohima 1 'm':‘n%TIT
b. Manipur 2. Agartala a. 3 i
J b. AUfigT 2. Al
c. Nagaland 3. Imphal ' -
d. Mizoram 4, Alzavi o 5. Bl
Code - d. e 4, C‘FIISGHE
a b c d TR
®1 2 3 4 (A) 2 3 1 4
C2 1 g4 (B) 1 ¢ @ 4
D)2 4 4 X ©2 1 4 3
3 D)2 4 41 g4
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|v'ﬁ.&':
. 'SAUBHAGYA' scheme 71.

What is .
71. associated with

LPG Gas ¢onnectiong ¢4, poor
tamilies
(B) Water consenvation in ryrg; oo

Social and economic eMpowerment

©) > young girls

D) Free electricity Connectigng for poor

families
72 UNIX is written in which IanQUage ? 792.
(A) C++ (B) C#
(©) NET L c
23 Read the following statements. 73,
statement — 1 : Pushkar lake is gjyateq
in Ajmer district.
statement —2: Pushkar lake is an apijficiay
lake.
Which of the above statements is/arg
correct ?
(A) Only 1
(B) Only 2
(C) Both 1 and 2 are correct EpE
(D) Both 1 and 2 are wrong %{%

74. Who is present Vice-Chairperson of NITI  74.

Aayog ?

(A) ShriB. V. R. Subrahmanyam
(B) Shri Suman Bery
(C) Shri Narendra Modi

(D) None of the above

GET IT ON
Google Play

T’ Wﬁ;ﬁ“a mﬁ]ﬂ% ?

bl
(B) rsfior &A1 STl T
(C) mﬁﬁgaﬁﬁmﬂmﬁmww%
LNIERETU
(D) nﬁaqﬁaﬁ%ﬁﬁ%ﬁ?&ﬁw

UNIX fra st & fomen men -

(A) C++ (B) C#
(C) .NET (D) C
F=fafaa ot = 1@

FA -1 TSR S I R 3 R
HUA -2 : TR A T Fhm whw g
SYUer HeHT § § HH-A1 o T 2
(A) a9 1

(B) e 2

(C) 1= 231 ol &

(D) 1Td 2 7o 8

e ST % Sk sweE 9§ 2
(A) = =t . . Yo

(B) *ft g =&

(C) #t ity Wy

(D) IHIT H § ¢ T
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75.  Who was the ruler of

75. R % sspere 3 e Faree EI

vijaynagar empire at

; 15 jnvasion
the time of Babar's inva BT I F T 7
(A) Veer Narsingh (A) oy g
(B) Krishnadevraya éj;,;.rgé (B) e
(C) Ramraya (C) TRy
(D) Achyutraya (D) I

R 3 werreg R e | o B R A

6. Given below are two statements, One is 76.
Assertion (A) and other is Reason (R).
Answer by choosing right option among i N i (R) WWW %gﬁal Pl
the given options. ﬁq 1Y fomedt # @ gt
Assertion (A) : Dot matrix printer is an 3?2]:[(/.\); g2 ﬁﬁ;a&q foret T '; .
impact printer which prints characters as RS et st forgatt o TN g
patterns of dots. ' e w2 |
f st e o ary o | A Bt e 3 1
array o
pins, it activates the desired hammers to o o A %.Gﬁ i qI. G
strike against pins and to print a character ® I ﬁ@aﬁ % o & i B
on the paper as patterns of dots. kasl % [
" bocoret ooy ©'* 1 W B s,
T ! TRt ?
(B) Both (A) and (R) are true but (R) i }
is B 3 ?ﬂ
the explanation of () (Rl not bl (H)?ﬂﬂﬁmé (R), (&)
BT e W T 2

(C) Only (A) is tru

() is true (©) ¥ (n) T 3
D) Only (R is try
= Ui (D) % () wreg

-25-
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tch List — | with List —
Ma Il 'and seject the

* correct answer by using the _
pelow the lists : Code given

List =1 ‘ List '- "
4. Make in India L o
b, Startup India . S04
c. Agri Export Zones ii. 2019

4. National Mineral Policy iy, 5914
a b c d

(A) i il i iv
(B) i iii iv i
() ii iii [ iv
(D) i i iv i

78, Which of the following statement js not
correct regarding recognition as National

political Party in India ?

(A) To be recognised in 4 or more States
as a State Party

(B) Winning at least 2% Lok Sabha seats
from not less than 3 States

GET IT ON
Google Play

ki

77. %ﬁﬂ;%ﬂaﬁqm@mmqﬂ% y

e e I
gt - T~y
" Wﬁﬁﬁm . 2014
. g AT . 2004
. Tﬁﬁzﬁﬂ' a iii. 201g
d. T e AT v 2014
a b ¢ a
(A) i ji i iv
B) i ii iv [
c i i Y
i iv il

ro, s g T &1 T oy

¥ dey H,

a7

(A) 47 aiferss T T W %
T T BT

(B) w0 QT 3TA ° HH H HH 2%
RIE T I CACIGEN

2]

(C) Securing 4% of valid votes in any 2 or é%_% () foret ShteperT 2 ﬁw Eﬁﬁh ?
more States in the last Lok Sabha or Tl 21 i Tl W 4% <9 AT
Assembly Elections and having 4 MPs FTftret e o Feeht off () ®
in the Lok Sabha from any State(s) 4 AT @ e

(D) Securing 6% of valid votes in any 4 (D) ﬁ@ﬁ ST 3 fererrr e
or more States in the last Lok Sabha foredl 43 rferes Uit o 6% A4 AT
or Assembly Elections and Winning 4 B T 3f feeht off () @
Lok Sabha seats from any State(s) 4 AT W ey



https://applink.adda247.com/d/XhqWf9lSap

e

79. In which of the followind countries lake  79.
Balkash is located ?
(A) Iran
(B) Mongolia
(©) Kazakhstan
(D) Uzbekistan
80. Match the List — | with List—lla_nd choose  80.
the correct answer using code given below
the lists.
List -1 List -1l
a. Nandadevi National 1. Uttarkashi
Park
b. Gangotri National 2 Chamoli
Garhwal

Park

c. Binsar Wildlife
Sanctuary

d. Askot Wildlife
Sanctuary

Code :

3. Pithoragarh

4. Almora

(=]

ol Ll
bl g
OO

GET IT ON
Google Play

57/24

i i
R 2, Y fpmen d

(A) S

(B)ti"'h'%rq'[

(C)WT@'RHH

(D) ssfpem

T | e 1 & e A
W%:ﬂ?ﬁg;ﬁ@wuﬁﬂﬁﬁ
SR G |

T -1 et - 1l
. Tt T T 1. IR
b, R T s 2. W e
c. R st 8. faee
IR

d. AR g 4. 3T
IR
®:
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83.

84.

(D) foreame Hamgit

3y General Hindi
¥ B 7

P e i 2
St e | ST e

B Wmm

()Wﬁmﬁaﬁrﬁ?mw

()q&qamwﬁ%@ﬁmm%q,

ﬁﬂ%@ﬁaﬁq—mwma

(ay Tirar1 1 3 & - SR

(B)aammaﬁf? ~ ST

() @ife &1 31ef & - srfafed wh

(D)%mwﬂ%‘ﬁwﬁ

gt R 1976 B & & gy 3

ool o1 ?

(A)mﬁ-qﬁmaw

(B)mmﬂﬁlﬁaﬂm

(C) e A ST & TSI Foa
hl IR

(D) 3 Al

“TeTeh hehg Idh WHT TAIBITHA bl T

ggt araret g |

(A) 9 T BT

(B) “hehgl T THT HIFT

(C) IRuI T Tavamy AT

86.

88.

89.

90.

GET IT ON
Google Play

St % AAA BIG

(A) weft S
(B) 1 I AT BT ST T

(C) WSt Wi
(D) =& $ T
frfeiad o § TeaTelt Tiieh TR S T8 € |
(A) Sfafdg
(B) GlTrcﬂQTEﬁFaFIT
(C) forvHféRE dar
(D) TSI T
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91. fyr @ i ghg A SRR 7 96.
(A) TR (B) fearer

%ﬁi;t@w - g far A

(C) gz (D) TG “ e
(B) ¥
0. wifer s gz 2@ I b © 8y i =
Ay ez 7 fad I FNE ? 0 . (D) & T
(A =4 SR iy ) e 2
(B) 7‘"_5?; (A)%
B) <heH!
(C) ot @ (B) .
(D) & ke () Fey
98. ﬁ-q[%;ﬂz\@_a ; 5 5 ; 2
. . it #f ee-ar s 8 7
93. “mﬂﬁ"ﬁﬁﬁamﬁrwﬁm@f@ "ﬁ@qﬁmﬁ,@i@qﬁ@éaﬁ
AT AT 8 ? TR %, % S0 2
(a) e T (A) s
(B) hferereit —
© (C) 3IqmT
(D) Qg
(D) YW

94, H 9 o wEw fr H A w0 E ,

(A) TR T (B) T T 99, ¥g) 3 et & & i Q) @ 9 W E ?

©) Wt g (D) T T R0
. - (B) dcaH-qgHd
95. ﬁﬁﬁﬁ‘W'WEﬂWﬁé% 7 !ﬁigm (C) I -Td
. i
(A) AR T (D) at-feam

(B) I 7

(C) Sft-2aaratl 1 STEH H AW HIEEH 100. ﬁﬂﬁ?ﬁgﬁﬁﬁaﬁq—mwﬁ% ?

W HTaRd G i gfskn (A) el B) HAfermsh
(D) 3UIF ¥ § g T (C) eIt (D) HARrsh
[——
i
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